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1 Introduction

In RAN2 meeting #83bis, it was agreed that:

The MeNB maintains the RRM Measurement configuration of the UE and may, e.g. based on received measurement reports or traffic conditions or bearer types, decide to ask an SeNB to provide additional resources (serving cells) for a UE.
It was also captured in the endorsed running 36.300 CR that [1]:

Measurements:

In DC, the same principle as in CA applies, and the configured set of serving cells includes all the cells from MCG and SCG.
Generally, current measurement, measurement triggering and reporting procedure for CA work well for DC. But there are two cases that are specific to DC: sPCell change and SeNB change. For these two cases, currently there is no specific trigger event for them, which we will analyse in detail in the following section. 
2 Discussion 

For CA mobility, there are Pcell change (handover), Scell addition/removal. For DC mobility, besides the CA cases, there are also SeNB change and sPCell change.

There are three cases for SeNB change:

1. After SeNB change, sPCell works on the same frequency

2. After SeNB change, sPCell works on another frequency which belongs to the source SCG frequencies.

3. After SeNB change, sPCell works on another frequency which doesn’t belong to the source SCG frequencies.

For sPCell change, currently there is no discussion about the cases. We think all the following cases should be considered:

1. sPCell change only to a serving cell in SCG

2. sPCell change to a neighbour cell in the same frequency

3. sPCell change to a neighbour cell in another SCG frequency 

4. sPCell change to a neighbour cell in another frequency of the SeNB but not belonging to SCG frequencies

Proposal 1: Agree on the 4 cases for sPCell change.
From above listed cases for sPCell change and SeNB change, we can see that the change cases are quite similar to the handover cases of CA, with the only difference that the change is limited to SeNB cells. Therefore, we think similar measurement report triggering as handover may be considered for SeNB change and sPCell change.

Currently, there are 6 measurement report triggering events defined for E-UTRAN:

1) Event A1 (Serving becomes better than threshold)
2) Event A2 (Serving becomes worse than threshold)
3) Event A3 (Neighbour becomes offset better than PCell)
4) Event A4 (Neighbour becomes better than threshold)
5) Event A5 (PCell becomes worse than threshold1 and neighbour becomes better than threshold2)
6) Event A6 (Neighbour becomes offset better than SCell)
For CA intra-frequency handover, usually Event A3 is used to trigger the handover. For CA inter-frequency handover, usually Event A2/A5 is used to trigger the handover. For DC case, there are two kinds of Pcells: Pcells in MeNB (still referred to as Pcell) and Pcells in SeNB (referred to as sPCell). Current Event A3 and Event A5 can still be applied for handover in DC case, which compares measurement results of Pcell and neighbour cells (from both MeNB and SeNB). But for sPCell/SeNB change, what is really useful is the comparison of measurement results of sPCell and neighbour cells from SeNB, which is not covered by Event A3 and A5. 
There are two ways to solve this problem:
Solution 1: Define the following two Events for SeNB/sPCell change:
Event A7: Neighbour becomes offset better than sPCell. The cell(s) that triggers the event is on the frequency indicated in the associated measObject which may be different from the (primary) frequency used by the PCell.
Event A8: sPCell becomes worse than threshold1 and neighbour becomes better than threshold2). The cell(s) that triggers the event is on the frequency indicated in the associated measObject which may be different from the (primary) frequency used by the sPCell.
Solution 2: Define a parameter for Event A3/A5 to indicate that whether the event is referred to Pcell or sPcell.

In our view, both solutions are feasible and with equal complexity.
Proposal 2: RAN2 to discuss whether to adopt solution 1 or solution 2.
3 Conclusions

Based on the discussion, our proposals are provided as follows:
Proposal 1: Agree on the 4 cases for sPCell change:

1. sPCell change only to a serving cell in SCG

2. sPCell change to a neighbour cell in the same frequency

3. sPCell change to a neighbour cell in another SCG frequency 

4. sPCell change to a neighbour cell in another frequency of the SeNB but not belonging to SCG frequencies

Proposal 2: RAN2 to discuss whether to adopt solution 1 or solution 2.
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